MCQ Resuscitation 
1. With regards to an A positive male with haemorrhagic shock, which statement is not true:
A. He may be given A negative packed cells
B. 4ml/kg of packed cells would be expected to raise his Hb by 10g/l
C. He may require 20ml/kg of packed cells
D. Calcium is indicated in massive transfusion
E. He maybe given 2 units of O negative fresh frozen plasma



2. With regards to vasodilatory septic shock, which of the following will not increase SVRI (system vascular resistance index)

A. Noradrenaline infusion
B. High dose adrenaline infusion
C. Transfusion of packed cells
D. Arginine vasopressin infusion
E. Milrinone infusion



3. Which one of the following findings would be present in a 70 kg male after 1000 ml blood loss? 

A. Altered mental status with marked anxiety 
B. Urine output of 20–30 ml \ hr
C. Increased pulse pressure 
D. Decreased blood pressure
E. Pulse rate > 120 \ min



4. In regard to stored blood:

A. Packed RBC’s kept at 40 cannot be used beyond 28 days
B. Transfusion of one unit can be expected to increase haematocrit by 5%
C. Functioning WBC’s are present for three days after collection
D. There are no platelets or Factor VIII present after three days
E. Microaggregate levels are maximal after initial collection and storage

 

Answers 

1. E

2. E
3. B
4. D
